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el 3 AT 33 3 U=d) Rt el B s 3 ug o | Read the following instructions carefully before you begin to answer the questions.

Maximum Marks : 100

Answe:"g::eﬁj:: 5 5 (D ‘g 8

SHeaR] & fote e

Instructions to the Candidates
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@I IR Y, | Feprer b IR @ gRadT o |
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SBRICHE 37 & &
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udet ETc/®aT A TET FE o FAHaTl THh Al rgTelt B
Iuffy wsre R EEIRR Fee A Usa U ot ghdaa wean
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1. Before you start to answer the questions you must check this booklet
and ensure that it contains all the pages (24) and see that no page or
portion thereof is missing or repeated. If you find any defectin this
Booklet, you must get it replaced immediately.

2. OMR Answer-Sheet is within the Question Booklet. Please
ensure OMR Answer-Sheet number and Test Booklet No. of
Question Paper are same. Read the instructions printed on
OMR Answer-Sheet carefully before filling the information
on the OMR Answer-Sheet. You must complete and code all
the details on the OMR answer sheet correctly, failing which
your answer sheet may not be evaluated. You must also put
your signature on the OMR Answer-Sheet at the prescribed
place before you start answering the questions. These
instructions must be fully complied with, failing which, your
OMR Answer-Sheet may not be evaluated.

3. This bookletconsists of 100 Mulfiple Choice Questions and are printed
in Hindi and English language. Each question has 4 (four) alteratives | .+
(A), (B), (C) and (D). In case if you find more than one correct
answer, then choose the most appropriate single option and darken
the appropriate circle in the answer sheet against the related question. | *

marking for incorrect answer. g

5. Use Black/Blue ball point Pen to darken the circle. Answer once | ™

darkened is not allowed to be erased or altered. Againstany question

if more than one circle is darkened, machine will allot zero mark for
that question.

Do not fold answer sheet in any case.

No rough work should be done on the Answer-Sheet. Space for

rough work has been provided in this booklet.

8. Mobile phones and wireless communication devices are completely
banned in the examination hallrooms, Candidates are advised not
to keep mobile phones/any other wireless communication devices
with them even in switched off mode, in their own interest. Failing to
comply with this provision will be considered as using unfair means in
the examination and action will be taken against them including
cancellation of their candidature.

9. Candidate should not leave the examination hallfroom
without handing over hislher Answer-Sheet to the invigilator
and without signing on the attendance sheet at proper place
against your roll number. Further candidate should also
ensure.that booklet no., booklet series and OMR Answer-
Sheet No. are correctly written on attendance sheet before
signing on it, failing in doing so, may lead to disqualification/
no evaluation of OMR Answer-Sheet will be done.

10. In Case of any discrepancy found in Hindi version, English

o

version will be treated as final.

SIE e 31U BEl o WU a9 o Ue-YRadT o Tiei / DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.

' 3flearR ®1 w/Name of Candidate :

Feofleae & Evaierz/Signature of Candidate :

4. Foreach correct answer One mark will be given and no negative | ;



fore AffPe T0ig o o9 T 9SeTE wiEd

penoi e G R R T

(A) .ods ©{BY .odt
(©) .ottt () .odp -

Presentation file created in LibreOffice
Impress is saved with the extension

(A) .ods (B) .odt

0 e (D) .de

HieaeR S Wad ®9 ¥ faenfua o dvifm
fopan < © =9 8T Sl €

(A) TowrE |
(B) Uakw
(C) fufeser

(D) siLuaTE.

Software which is developed and modified
freely is called

(A) Synchronous Software
(B) Package
(C) Middleware

(D) 0SS

forsl iR S0 o T USieYH WRe W

FES UE ety =1 idwhe T
(A) CTRL+G (B) CTRLA+F
(C) CTRL+I (D) CTRL+H

Shortcut for Find and Replace in
Presentation file created in LibreOffice
Impress is :

(A) CTRL+G (B) CTRLAF
(C) CTRL+I (D) CTRL+H

foret offfee Fo= o fiow TR & fou &9 @
& T T2

(A) == =1 79 3 ¥ 98 TH o =9
¥ gftafda 2 s &
(B) T siisi=a o8 iR = € iR firm

TGRS

(C) T ziftsi=a <6 ok =1 o1 3R fm
T

(D) T aféwa i it - e s &

Which is not true for Elip action in LibreOffice
Calc ?

(A) Flipping a selection converts it into a
floating selection

+(B)  Flip Horizontal flips the left side to the *

right side

(C) Flip Horizontal flips the right side to the
left side

(D) Flip Vertical flips the top to the bottom
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o iR Toe # fife Wieg & fog widse ==
872
(A) CTRL+Shift+O
" (B) CTRL+Shift+P
(C) CTRL+Shift+PP
(D) CTRL+P+P

What is the shortcut for Print Preview in
LibreOffice Writer ?

(A) CTRL+Shift+O
(B) CTRL+Shift+P
(©)

- (D)

CTRL+Shift+PP
CIRL+P+P
Tl R @ TR
(A) Tt g1 & e wiferd wHH
(B) W&®H ‘I‘B & = wferd ererm
(C) T=B & P F A

(D) U9 F TS H X

Footnote is placed :
(A) At bottom of all pages but same

(B) At bottom of each page but different
©)
(D)

Inside the footer of the page

Inside the header of the page

¥

7

el &1 g fReen g femen S 8 2

) - YR T

(B) Taftm wiewE! :n LEENEE]
(C) SRR HE HEl

(D) Swled § § HIE T
Telegram is used for

(A) Making E-Payments

(B) Sending messages across different
platforms
(C) Emailing Application

(D) None of the above

iy # (&t 7 w1 veEE fhees g fewdn s
§?

(4) ®

(B) =

(C) fowe fawe
(D) &

X

Ready queue in OS is maintained by

(A) Array
(B) Stack
©
(D)

Linked List

Tree
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9. foa aiiftPm Fow ¥ felsww &1 9o & & | 11.  9+ft =1 oo = fomn g fowa grasal &

foarg widse | S Teen et o= =Afen = 3Hd 99 & o
&l * =1 9T foman ST 1
(A) Shift+F2 (B) Shift+F5
(A) TS I
(C) Shift+F3 (D) Shift+F9

(B) TATEE HTaiA whidt

Shortcut to trace dependents in LibreOffice

Calc is ; (C) o =AES Hidl
(A) Shift+F2 ' (B) Shift+F5 (D) SR STt
= (C) Shift+F3 (D) Shift+F9 _ iswused tosend an e-mail to some

other person in addition to the main subject
receiver without disclosing details to all.

(A) Carbon Copy

10. = H U WEwEl qehAlh T8 ¢ 2
(B) Blind Carbon Copy

(A) e e (C) Double Blind Copy
(B) WHhYH Heas (D) Xerox Copy
(c) et Tl

12. Tofim =i & 3= soages ©9 9 g %e 2wl
(D) R wieRd wfdg T T GEY O dH:AE 3
Which is not a firewall technique ? (A) NEFT ’ (B) RTGS

' C) SMPS D) IMPS
(A) Packet filters ©) (D)

SN . is the Fastest technique to
(B) Application Gateways . instantly transfer funds electronically
' '  between different banks.

(C) Proxy Server
(A) NEFT (B) RIGS

(D) Fire Proxy Service ' (C) SMPS (D) IMPS
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13, @ sifre Sew d o oS d MW RT3y | 16. ot SifRw e TR FEA S TEY
T E? Y sy de R

(A) S His (B) =R HIW
(C) < TerHed (D) = 2=y

Which is not a valid step in Chart Wizard in
LibreOffice Calc ?

(A) T 3EE
() = g

(C) STESTR wied g™
(A) | Data Series (B) Chart Series

(D) Tl
(C) Chart Elements (D) Chart Type

LibreOffice Calc does not remotely save the

) file on
14. foe AR Few § TWHEIE TSR &I 9hRA
T T Yiehe (A) Google Drive
(A) CTRL+E (B) CTRL+AIt+E (B) One Drive

(C) CTRL#Shift+E (D) CTRL+F9 (©) IBM Lotus Notes

'Shortcut to activate Extension Manager in
LibreOffice Calc is ! (D). FIP

(A) CTRL+E (B) CTRL+AIt+E

(C) CTRL+Shift+E (D) CTRL+F9 - A
' 17. TATH 2foe w1E€ W 81 A=l H1 g&A

e -
15. SAHM RS ¥ YolevH YE i F1 Ahe © &) 10 B 12
(A) F5 ° (B) F4 & n =
(C) Shift+F5 (D) Shift+F4

The number of digits printed on ATM Debit
Shortcut to start the presentation from the card is : -
current slide is :

{

(A) F5 (B) F4 ' el (3

g

(C) Shift+F5 (D) Shift+F4 (&) 11 s} S -

Page 5/11 SPACE FOR ROUGH WORK T MI.R5/01-23



18. Q9 T (Save As) & fau widswez Fi 7 | 20. Tae T Tl iR s el 9 gl
1 AT TEH w0 § TR F F A0 TH ST
fe HwRAI
A) CTRL+S P
o (A) T HiSTEE T
(C) CTRL+ALT+S (C) e TRy HsTEe Y
: . D) ST § § &I T
(D) v & A A s
A utility software to help deliver protection
Shortcut key for “Save As” is to mobile cyber threats and online scams :
(A) Norton Mobile Security ‘
(A) CTRL+S :
(B) Norton Mobile Guard
(B) CTRL+SHIFT+5 (C) Norton Anti-Virus Mobile safety
(D) None of the above
(C) CTRL+ALT+S
" Nl e 21, fera siftea 3 3 R %) o
LGS
(A) TS TS
19. HF T qa1 U H SRS A TR )
L R (B) TEe =l g
© F=te .
(A) WINS (B) DNS ;
(D) <&IES farsH
(C) DHCP (D) PPP Track changes in LibreOffice does not allow
to
Which service provides dynamic IP
addressing to clients ? : s i '
(B) Compare Document
A) WINS B) DNS
) ®) (C) Record
() - DECP (D) PPP (D) Split Document
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A

248

23.

24.

forst STTTRY Yo § SRS &0 & Tog S99 3y
Torepeq & €7

.

(A) Tmghe (B) HeTF

© Hezwe (D) wEE o

Which is not a valid option to Arrange in

LibreOffice Calc ?

(A) Bring to Front (B) Send to Back

(C). Send to Front (D) Forward One

fore P E Hhew A TR T WSYiE HEA

TR % WY 8 1 S ¥
(A) .ods (B) .odt
(C) .ott (D) .odf

Spreadsheet file created in LibreOffice Calc
is saved with extension :

(A) .ods (B) .odt

(C) .ott (D) .odf

forey SifftRe Tet H =TS TS SR THisel UereeH

% Wy ¥3 1 9@ L
(A) .docz (B) .odt
(©) .ott (D) .odf

Document file created in LibreOffice Writer
is saved with extension :

25,

26.

fife Wiy forehen =1 2a 6 & fog fetafe
FfoEt =t SuanT foman s e ¥

(A) CIRL+P *
(B) CTRL+T+P
(C) CTRL+O

(D) CTRL+Shift+O

To Toggle print preview option one can use
the following keys

(A) CTRL+P
(B) CTRL+T+P
(C) CTRL+O

(D) CTRL+Shift+O

Yogm F EEet - ¥l

(A) T

(B) Tk Yafi oI (g ershiaH
(C) et aEeT o frw o

(D) ST F FE T

CEO of the Facebook is

(A) Mark Zuckerberg

(B) Mark Saverin and Andrew McCollum

(A) .doc (B) .odt (C) Dustin Biden and Chris Hughes
(C) .ott (D) .odf (D) None of the above
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27. o7 #eE % foe w grew 29. o Aifre ek % forg foaene ==
<RI
(A) HHR T £
; (A = (B) e
(B) wHIwH
© T (D) =A@
(©) Hewwaw/HrEr _ : _
LibreOffice Calc does not give a wizard for
(D) R Z HR A
(A) Letter (B) Fax
One format for LAN OS .
(C) Agenda (D) E-mail
(A) Common Server
(B) Place to Place
30. fosl AT S95E H A% T8 AR WAES YsiesH
(C) CSMA/CD e 7 -
£ e tess (A) T e W fewiee w7 3 e 59 Rar
<arg
28. WENT I S Al HER B AT W (B) TEell WS Wfewiee &9 @ we 3 far
R
(A) d1.Ue.TE.STE. { A
(C) difer =iEs W fewice ®1 ¥ ¥« 3w Rar
(B) FHRe wffm T
©) gifreed (D) W= H { FE T
3 Master slide presentation file created in
(D) L LibreOffice Impress has :
Third Generation of Computers used (A) everything appears by default on all the
Et slides
(A) VLSI (B) everything appears by default on the
first slide
(B) Integrated Circuits .- »
: : (C) - everything appears by default on the
(C) Transistors last slide
(D) Vacuum Tubes (D) "none of the above
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31. foaesA ¥ Tore S e st wehdn | 34. ol AR TS THAE F w9

% T e o faeed X €
(A) Hueh s : ‘H"( A) PDF .
- (B) TehHal % 9k § @ () EPUB
€ RS (C) PDF 3R EPUB <Hil
(D) S |+t
(D) e JPG
LinkedIn can be used to
(A) Build connections LibreOffice Writer gives an option to export

the document as
(B) Stay in touch with colleagues

(C) Search jobs

B
(D) All the above ' ®)
(C) Both PDF and EPUB

(A) PDE

EPUB

32. 3 s <=Es § vl % fatE (D) Only JPG
a1 WIS <1 WA €
(A) R B T« 35. e H TorepRad Wer R R 1 AW AR ;
(©) fomtE (D) @Al
(A) H="™
Different meanings of words in a document
can be searched from . (B) @mm
(A) Dictionary (B) Google
: (C) g
(C) Thesaurus (D) Spelling
(D) T 8000
33. Usd ¥ fou o < Tehd B Name the first supercom];;uter developed in
- India :
(A) =i (B) TW®
(A) Sahasra
(C WA (D) S g4l

; _ (B) * Saga
Anchors can be placed to '

(A) Character (B) Paragraph (C) ‘Param Yuva

(C) Frame (D) All the above | (D) Param 8000
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36. SRS SR YHIOTOS % TR, | 39, T ¥ wH dfwE S wiRe #t afae e
RO 3R Toare & foe e gtﬁﬂﬁ aﬁﬂ'sg TR T2
ST R 2 | . |
2 \ A) IRz B) Al
(A) STHS 99 Qe (%) )
(B) sivea TS (C) ey (D)
(C) T HASS Which is not a valid property -of Transition
D) et on slide ?
is a secure cloud based platform (A) Variant (B) Sound
for storage, sharing and verification of _
documents and certificates. (©) Duration (D) Color
(A) Amazon Web Services
(B) Oracle Cloud .
| ?
(©) Google Cloud 40. Tosi ATHY Few H B W w=EA 79 T T
(D) Digilocker (A) BfEm1 (B) TE
37. __ widske Hiaal w1 ST w6 =) B (D) W
el fel % 2 o T ¥ Which is not a valid Style in LibreOffice
(A) CTRL+F10 (B) CTRL+F9 Calc ?
(C) CTRL+F7 (D) CTRL+F8 (A) Heading 1 (B) Good
Formatting marks can be toggled using
shortcut keys. (€) Bad (D) Poor
(A) CTRL+F10 (B) CTRL+F9
(C) CTRL+F7 (D) CTRL+F8 Fra— .
| 41. T AifeE Fo= F 99d wEen
} , : \ o SER T H S Tl g
38. “hIS = HITHT 39 S Heged foed # Jham '
1 HROT S S : (A) =2 (B) wden
A) FEE B) aIfn £ o
) ®) (C) |a3TH (D) 9l |t
© ™ (D)
Sof ’ fendulih I Conditional formatting can be doné 1n
oftware plece of coge atreplicates to cause Tibre Oiifioe Cal Bassdlon 2
a damage in computer system :
(A) Virus (B) Bacteria (A) Date (B) Formula
() Tram oy Span - (C) Cell Value (D) All the above
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42. Tt Ol SE & e e siitee w5

43.

44,

ﬂﬁﬁw
(A) Shift+F7 [(BI“SCTRL+FZ &
(C) Shift+F9 (D) CTRL+F9

LibreOffice Calc shortcut key for automatic
spell check :

(A) Shift+F7 (B)
(C) Shift+F9

CTRL+F7
(D) CTRL+F9

wfen & fau fosr oiugend dey AN

e
(A) frfswa (B) WeFh
(C) == feiw (D) ghedr

O8I Reference Layer responsible for routing
is

(A) Physical (B) Network

(C) Data link (D) Transport
w3 foyhew % ST Sk swES
H TIY Hive q% Uge Hehdl § 1

() e Teaw

B e

©) U fewm

(D) TS TTEE

One can access database fields in the
document using option.

(A) Add Database

(B) Add Table

(C) Add Relation

(D) Exchange Database

45.

46.

47.

S |1 ¥ fems WAN & €2

(A) ATM (B) ISDN

(C) Frame Replay (D) X.25
Which is not a packet switched WAN ?.
(A) ATM (B) ISDN

(C) Frame Replay (D) X.25

Sk 59 W 1 ST SISt WA H =k Y S
F % fag @ ¥

(A) SiTHaR

(B) IR

MC) TS T

(D) THEHISR

Banks use this machine to process large
number of cheques :

(A) OMR

(B) OCR

(€) Barcode Reader
(D) MICR

GeMe BRA R HFEH THO
mwmmm@mmmw

W R

(A) X.502 (B)
(C) X.510

X.503
(D) X.509

Spreadsheet file can be digitally mgned using
a certificate of standard

(A) - X.502 (B) X.503
(C) X.510 (D) X.509
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48. Tl SMfPe e # #F @ Afers Wil Wi | 50. forsl AR @ aTR fehe & fow witdee st
T e? 7‘ FE?
o e (A) Cl+B (B) Ctl+ W
() Gl T (D) Cul+Q
(B) SR Bl h To exit LibreOffice what is the shortcut key ?
(A) Cul+E (B) Cul+W
(C) o= WigR
.-/ e (D) Cul+0Q
(D) HH SiE _
51. forsl Siifre Shew o fowforr
Which is not a valid Formatting mark in !
LibreOffice Cal ? . (A) HET B THcht €
(A) Non-breaking space ®) b ¢
(C) T < Henell §
(BY Non-breaking hyphen. D) L
(©)  Word Joiner Comments in LibreOffice Calc can be
(D) Sentence Joiner ]
(A) Edited
(B) Shown
49. TEATITT SiTE U T i
(D) All the above
(A) =8 EfET
e 52. A =i wlafe TMH H HE
() Tl T
(C) haat 2w Sl (A) e
: ; B) 3TAI]
(D) <=H i iR wedarfish At ®)
. . - - (C) w
An exjcenswn of multiprogramming OS is (D) e |
Auto Correct entry can help to create
(A) Time sharing '
(B) Miltitasking " (A) Replacements g
(B) Exceptions
(©)  Only Time sharing (C) .Word Completions
(D) Both Time sharing and Multitasking (D) Al the above
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53. 3 B TH A1 3MfeR H T ¥ | 56. e oK 3w daifm € w L1
, : TTIE fohan ST B 1
(A) S (B) T -
() e (D) ) e A
An image map is a group of one or more : (B) HHH TS fewn
& P group
(A) Images (B) Pics (©) et
(C) Hotspots (D) Maps
(D) T S=e
54, ed d TS 2 et S 5 E-mails and its related data is stored on
1 Bl ? T
(A) Attachment
(A) (B) -py ‘
(] e D g (B) Computer hard disk
What will be the JAVA extension file used in (o) Deleim
o
ol g (D) Google Drive
(A) - (B) -py
(C) .exe (D) jar 7
57. e SragHC % WU B T TRe Slaghe |
HId HW * T T TR FW ©
55. TEF § sifan GUIfka Tge W S & fag ;
Tiewe sl w1 ST B (A) TR X
(A) CTRL+Shift+F4 (B) hIdl WIHTET
(B) Alt+Shift+F4 () Fewhifen
(C) Alt+Shift+F5 i
(D) oA HHTET
(D) CTRL+Shift+F5
: . g s In order to copy the format of the text
;,r}?o]rl:gllf kt:e)ylsa?t POMEE Hds L i document in another text document we use :
(A) CTRL+Shift+F4 (A) Format Painter
(B) Alt+Shift+F4 (B) Copy Formatting
(C) Alt+Shift+F5 (C) Paint Formatting
(D)  CTRL*ShiftF5 (D) Clone Formatting
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58.

89,

60.

forelt wifskan =1 S =1 Wl 1=t faea © -
(A) TH AT e @

(B) wmqul WisRR Y o
(C) fromfed foran ST e W

(D) = TR

The best option to relate a process is a

(A) An Operating System itself
(B) Complete software package
(C) Program in execution

(D) Interrupt handler

T B H i W RICS ST TR S el ?
(A) fafa (B) HHH
(C) wearw s (D) f&m

In a Form which field cannot be added ?
(A) Date (B) Time

(C) Numerical (D) String

e wEs f5eH eTgedl wsel & vl Ft Th
sregafeed g et ¥, 39 Fed &
(A) STSEART wES

(B) Iy wTES

(©) =g FSim

(D) Wl wIES

A new slide that contains an unordered list
from the titles of the slides that follow the
selected slide is called

(A) Outline Slide
(B) Preview Slide
©
(D)

Preview Presentation

Summary Slide

61.

62,

63.

forst stifthe g9 & e ¥ Gagavie SiFesr
oo fesd/art & qen & fau we seam

0 & FgEiE = SR
(A) few (B) TiewE
©) T (D) TES

To protect sensitive information portion/
content in a file in LibreOffice Impress it is
recommended to use :

(A) Redact (B) Protect

(C) React (D) Hide

R % IR TAEEH Al S
el 1

(A) FHIA €9 H

(B) WwURS W foieh
(C) HI3H %I U % €9 § TR FLh
(D) ST |t

During presentation slides can be changed

(A) Manually

(B) By clicking on background
(C) By using mouse as pen

(D) All of the above

forsl SR 39 & 9 offsdee =it &7 9t wiad

TR W w2
(A) X-uifseA (B) Y-THifssH
Q) aﬁm CES (D) ST 9t

Which property of Snap Object carr be
adjusted in LibreOffice Impress ?

(A) - X-Position (B)
(C) Vertical Type (D)

Y-Poistion
All the above

Page 14/11

SPACE FOR ROUGH WORK

M1-R5/01-23 |



64. I T o e HARSHT 1 SR T § 2 66. HIX TTF & fau wsiE T fafy
(4) S = e (A TEIE
(B) T
(B) SRR (C) <= fim
(©) TS (D) tid
Popular access method for Computer
(D) WEeR Network :
Which is not an example of LAN based (A) Bus token
messaging ? (B) Ethernet
(A) Domino (C) Token Ring
(D) P2P
(B) 1IIS
(C) Exchange 67. GIU RN R HE YAH i TEIfd e & g
(D) Groupwise M R R =
(A) Wi (B) fafseeat
: (C) WHHE (D) TR
65. T fu I iR & 9 T o H WR e APOSisa__ system to process
S &, T8 e ¥ card payments at retail stores.
e L (A) Software (B) Middleware
(A) SRS F (C) Firmware (D) Hardware
(B) Towrzas d
. e 68. 3D fiifén wrmit # g fermen v i ?
C) TEC 9ES
() (A) WS
(D) SR H F F1E T (B) Fifer
The Image Map is stored in a layer below the ©
picture is called : (D) SR T
(A) Server side Image Map What you will use in 3D printing material ?
(B) Pics Image Map LAY Beiln ‘
(B) Nintinol
(C) Client side image Map (C) Rubber
(D) None of the above (D) All the above
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69.

70.

" (A) File

forsl SifFm T A fordt T W fefies =9
q TR FA ¥ o am ¥ fefSest
TR 7 ey i swm s &) "

ufee

(D) ==

(A) rEd (B)
Q) T

To Digitally sign a document in LibreOffice
Writer we use Digital Signature menu option
from ;

(B) Edit
(C) Insert (D) Tools

TEE W AgeTel T @ Wife fFd MU stfssiae =
TRIIET T AR TTge ST § uRwifie St &
Y TH & T w1 1)

(A) [ESR

(B) femer wide

(C) T sriER widfen

(D) iHE &R

To revert the formatting of a manually
formatted object on a slide to the style
defined in the master slide use

(A) Clear
(B) Clear Format
(C) Clear Direct Formatting

(D) Format Eraser

71,

72

73.

e & &9 7 9= fr T few dae

R w8 ue g

(A) 140, (B) 240

(©) 260 (D) 280

Twitter text posted as Tweet can be of
length. '

(A) 140 (B) 240

(C) 260 (D) 280

Tt SAifthe T & o W Ssieem Wi & @

il i HT ITEM T Srel
ST Hehal T ‘
(A) SiEe (B) frem
(C) ;W (D) HAEN

Two shapes in Presentation file created in .
LibreOffice Impress can be connected
using

(A) Joint - (B) Fix

(C) Attacher (D) Connector

(D) 3w

LibreOffice Calc does not provide following
Toolbar :

* (A) Media Playback T
(

B) 3D settings
C) . Painting
(D) Drawing

—

Page 16/11

SPACE FOR ROUGH WORK

M1-R5/01-23



| 74, oS SARE TR % W RS A9 STy | 76, FRE 0 6 S WREE iR SS9 T e Wi

TWR? 3Rt 82
(A) e (4 T
(B) = M THRfEH (B) TEEHIAT FRE
© wm ©
(D) A HIEH (D) <& T
In LibreOffice Writer which style option is Which address is permitted not to use two
not available ? forward slashes ?
(A) Emphasis (A) Http URL
(B) Strong Emphasis (B) SMTP URL
(C©) Quotation (C) News Address
(D), Double Quotation (D) Telnet URL

75. fos sifrw We d sR w A S A 7 | 77, wedtads wew # 9T Feme w1 Seyfer
8?2 1 Th FH T
(A) T =R (A) =<
(B) 3TN WhIA (B) Sy
©) Ui # (C) #ER
(D) 7@ i (D) sfrfen fawen ,
Which is not a valid presentation mode in In the multithreaded model scheduling of
LibreOffice Impress.? thread execution is a task of
(A) Full Screen (A) Input.
(B) Half Screen (B) Output
(C) Ina Window ©) Meﬁlory
(D) Loop and Repeat v (D) Operating Sj}stem

Page 17/11 SPACE FOR RO({JGH WORK M1-R5/01-23



78. SRS wiewd iR Aty FHFHIE F gt | 80. BN G swETE Y S S s
THRE : RRLG o afdfa 7§72
(A) 4,3 (B) 3,4 (A) /e
© 24 (D), 2 (B) e e
Total types of IoT platforms and voice ©
communication is (D) O
(A 4.3 (B) 3,4 Which is not an Operating System service
given to users ?
Q) 24 (DY &, 2
(A) I/O
(B) Process management
79. 3T & A A TR S gwa (C) Compilation
ik (D) File management
(a) dRE
?
(B fefem e 81. LAN & foTQ =7 61 qréaar evmavae e ¢ ;
(A) TS
(C) <
(B) TR T
(D) ST ¥ | FE T
(@ aﬁqaaﬂar—r EL !
E-payment-s can be done through (D) R q‘eh ?
; Which is not required hardware for LAN ?
(A) Wallets ' ‘
(A) NIC
(B) Digital Wallets L
25 (B) File Server
(C) Cash (C) 'Coaxial Cable
(D) None of the above (D) Monitor Server
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82,

83.

84.

frefefea # @ =1 T o 9 s 2

(A) I (B) THUH aE

(C) T=rd (D) oot iR

Which of the following is an Open Source
* Software ?

(A) Photoshop (B) MS Word

(C) Skype (D) LibreOffice

YR T fafire ve=m d@emn § S

S ST fopan e €1

(A) UBI (B) UIAI

(C) UIDAI (D) UBDAI

AADHAR is a unique identity number issued
by . ,

(A) UBI (B) UIAI
(C) - UIDAI (D) UBDAI
THAS & TN T HI G FE T §?

(A) @90 = JHA 9 F FY H ST T
fepan T T R

(B) HferieX F5 M Wien wim € 3R fafire
THU T TH F fag

(©) Troreht gt H odwm swaew § 9t g
e §

(D) et gm0 feeie w0 & fag, feefie

¥ ! g4 IR gEg
Which is not true about Bookmarks ?
(A) @ character cannot be used as a
- bookmark name

(B) Navigator is opened by F5 and to jump
to specific bookmark

Lower list contain all the bookmarks in
the current document

To Delete a bookmark, select and press
Delete button

©
(D)

85.

86.

87.

quAueTSt

|

(A) foramt
(B) TeremrfeEt
(C) faenferi
LR
UMANG do not provides services for

* fou Yo wem &l

(D)

(4)
(B) Hunters
(C) Students

(D)

Farmers

Pensioners

T TS Ui9d] A i o1 3y AR il T 22
(A) e (B) <ireE
(C) =i (D) iR

Which is not a valid paper format in Impress
Slide property ?

(A) Length (B) Width

(C) Height (D) Orientatiqn
fors aifrg S & FhEE | =
3w ¥ fafire et w fer frar smar )

(A) TR ®

(C) w=mwe (D) T @Ee

Connectors are anchored to particular places
in LibreOffice Impress using

(A) Fixer - (B) Glue
(C) Point (D) Glue Point
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88. WO ¥ 9% WiHAfAd BTN €W Tl 8 - 91. 3 e fasweq H HEA Glerd
.
(A) sfa (B) SR >
(©) =fifen (D) 3D Hied (A) T&HAT (B) wEfewn
It is not possible to insert in a
document. (C) TIgEa (D) e
A) Image B} "Sh
) - ®) 9 Open Remote option opens file from
(©) Video (D) 3D Model G
(A) Desktop (B) Hard disk
89. UieviewEe ®lfom sifra e d_
& ®9 €0 foRan o1 weha ¥ (C) Pendrive (D) Services
(A) 39 SgHe  (B) HIESHIETR TR
(C) dETE (D) SR | : ,
92, SEIES Sl Uh ¥ S Sl Fod® W<l
Spreadsheet file can be emailed as in v e
LibreOffice Calc as :
A) OpenDocument (B) Microsoft Excel :
(C) PDF (D) All the above
_ (B) oEferiFd $Hel
90. Hfeshe fored weifer frem 272
¢ (C) =i & & Torg Het |sf gfeferd)
(A) oS =i ST
: D) SWHH A i
(B) WEeR 3=d ®) AT
(C) TU fommt =1 oTRd Create a batch of documents that are
. : personalized for each recipient :
(D) dfehm erd
Netiquette is a rule related to (3) MOgoonsedtiics
(A) Food habits (B) Personalised E-mails
(B) Cyber habits '
C) Mail tility t
(C) Retailing habits - gy o
(D) Banking habits (D) None of the above
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93.

fas oifFw Sow o S wfae & &7
viiehe :

(A) CTRL+F2 CTRL+F1

(B)

(C) CTRL+F3 (D) CTRL+F9

Shortcut to insert a function in LibreQffice
Calc :

(A) CTRL+F2 (B) CTRL+F1

(C) CTRL+F3 (D) CTRL+F9

forst aiiftre Shesh H SifIftheet Y Widshe Fott §

(A) CTRL+Shift+L, (B) CTRL+Shift+A

(C) CTRL+Shift+F (D) CTRL+Shift+K

Shortcut Key to Auto Filter in LibreOffice
Calc is

(A) CTRL+Shift+L. (B) CTRL+Shift+A

(C) CTRL+Shift+F (D) CTRL+Shift+K

95.

96.

USSR H uftefda &l fomn s
(A) faziu (23) TS

(C) 2D (D) 3D
fresentataion cannot be converted
0

(A) Bitmap (B) Metafile

(C) 2D (D) 3D

fdtedt 3 forg sim o1 e el 2

(A) % T feamq

(B) = Afuehod TR T HT HLl &

(C) wfra Henfe fearsd

(D) o gt

Which of the following statement is/are true
for Repeaters ?

(A) Layer one devices

Connect two maximum °

segments

(B) length

(C) Active powered device

(D) All the above
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97,

98.

forel SAfftrT gt o 19 YRW Sem 9 F fea
S R ?
Tafere Toe 90 WS Hehd ©

THe WS § G349 &l Wies & ®9 H
it =T ghd §

A % T H FOE R U arelt
g T ST Y Fhd §

SR gt dyg §

(A)

(B)
©)

(D)

What can be done by VInserting Cross
Reference in LibreOffice Writer ?

(A)
(B)

Jump to Specific text passages

Insert References as Fields in the single
document

- (©

Use Objects with Caption and
bookmarks as targets

(D) All the above are possible

3T STERTE fre Feash & ey ¥ USHeR,
TR T A Bl el el € 2

(A) TeTTHEH
(B) wE
(C) w-SiTHT
(D) ieEEs

» Through which network does Open IoT
manage registration, deployment of sensors ?

99,

-

TUY U SUANTERAl s HehisT i

I SrgAf 3 R
(A) =@H (B) Huifkd e
(C) =aafeed & (D) 9= 94t

Impress allows a user to

macros.
~(A) Run (B) Edit
(C) Organise (D) All of the above

100. fod ifeg W A 3% ufEds fadt =7

F A A& @
(A) THE= (B) T&==
(C) feere (D) TH= 37d

Track changes in LibreOffice Writer does not
allow one to

(A) Accept (B) Reject
(A) LSM :
LR (C) Delete (D) Accept All
(©) X-GSN
(D) GSN o S
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